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M HSXED
HM: SEHHFIE
Celr MEHS U MENS S4 (el @2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
| = 500,000
HMEXNESA 22l (&) 1,224,160 1,048,680 175,480
307 2Iz2t0| & 1,224,160 1,048,680 175,480
02 DIZFEAAIRE 2 X 1,224,160 1,048,680 175,480
OFESMEXN TSR 22| (0 AHE2ZH) 1,160,000
Odeti=dd 29 32,160
OX&X 2 2Ydl X 32,000
HMEXNESA 22(02,20188) 62,000 56,000 6,000
J| 22,500
& 39,500
307 2iz2to| & 62,000 56,000 6,000
J| 22,500
& 39,500
02 QI AAIE E X 62,000 56,000 6,000
O HEAMEM=EUZ 62,000
J| 22,500
o=} 39,500
HMEXNZX 22l (22, A2F A 4,067,379 3,884,967 182,412
J| 2,898,176
= 1,169,203
308 MXISHMSOIA 4,067,379 3,884,967 182,412
J| 2,898,176
= 1,169,203
01 HXHHIMNEEXTZ 4,067,379 3,884,967 182,412
OLBtME S X = A HH XA 1,688,904
J| 1,125,936
& 562,968
OHESAMEM=A SR BRI AL 1,528,056
J| 1,018,704
= 509,352
OA2Zx=2t% ol2d X& 850,419
J| 753,536
= 96,883
MEXN=XH2el (KA AIZEX) 781,840 343,209 438,631
308 AMXIESHMSOIA 781,840 343,209 438,631
1 X SHHBAEEXS 781,840 343,209 438,631
OdMEszZz I 249 180,000
OMEYSXNE X XM 501,840
OEolMEtHUI N X K& 100,000
NAAZXPSHEYH 2SI (2 IHEEH L) 114,896 89,420 25,476
307 2Iz2t0| & 114,896 89,420 25,476
02 QIZHAE AAIE E X 114,896 89,420 25,476
OXEAZXNSHEH SR 114,896
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024 O

SR R=,
gMEdE
HelMs =4

= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il Bl RE2
== 250,000
Zoel MEHs 24(%) 270,000 275,000 A5,000
307 gl2tol & 270,000 275,000 A5,000
02 IS AHEE 270,000 275,000 A5,000
OZOQ MEMS XA 210,000
Ol AZ=28g |4 60,000
Zoe MEHs 401,808 8) 348,000 133,473 214,527
J| 186,083
= 161,917
307 21201 A 348,000 133,473 214,527
J| 186,083
= 161,917
02 It S AHE L 348,000 133,473 214,527
OZOQ MEMSE XA 168,000
J| 56,083
< 111,917
OFoe HMEUASHEH 2SS AL 180,000
J| 130,000
< 50,000
el MEHs (2 AZZ ) 1,146,197 844,452 301,745
J| 764,132
< 382,065
308 XXIEHHSOIA 1,146,197 844,452 301,745
J| 764,132
< 382,065
01 X HHILEES 1,146,197 844,452 301,745
OFe MEXM= XEZXA 1,146,197
J| 764,132
< 382,065
ool Meys (XM, E2X) 135,160 46,800 88,360
308 A EHHSOIA 135,160 46,800 88,360
01 HXNHHBHELS 135,160 46,800 88,360
OFM MEXNZX XMRHALH| 135,160
SHMAMSEU HEX XA 120,000 120,000 0
308 XX EHSOIA 120,000 120,000 0
01 HIXNHHNBNEES 120,000 120,000 0
OSEHMAMSUE MHaX X 120,000
AEIMY BY 338,100 424,350 A 86,250
AEZ=OHAE =& 338,100 353,100 A 15,000
201 -4 8,100 8,100 0
01 At 22l 8,100 8,100 0
OAZX LA FE UWESI(0LE210%) 8,100




2N
X ZH -
L= B

el

R
sUASTE
AN Y

SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 175,000 0 175,000
02 PIZHEHAHEE 175,000 0 175,000
O&=tal X & W=l X2 (0l &FE 2H10%) 135,000
Oxrzz= 04 EUs X 40,000

308 A EHHSOIA 155,000 345,000 190,000

01 AXSHBLELS 155,000 345,000 190,000
OYH S=0tctEHs XA 100,000
OggZI| A XA 15,000
Oz=2 2AA J18 MSEAM X2 40,000

HMSOIBAIE &5 & X& 19,103,532 20,277,532 A 1,174,000
s 14,962,532
< 4,141,000

COHEAE & & Ex2S 975,000 1,075,000 A 100,000
403 MHXSHHSA=0l& 975,000 1,075,000 100,000
01 XM A=E L 975,000 1,075,000 A 100,000

OZQXN=S ANEE=ES 900,000
O ZUeHM=SUE ANEE=E2S 75,000

A8 MEHSANE & B2 3,166,000 1,662,000 1,504,000
403 UtXISHE X201 H 3,166,000 1,662,000 1,504,000
01 X SHHX2E = 3,166,000 1,662,000 1,504,000

OL72 MSAME HES S 3,166,000
HEHNESSIXZHE 232,000 930,000 A 698,000
s 232,000
403 MHXSHHSA=0l& 232,000 930,000 A 698,000
s 232,000
01 HXSHMA2E X 232,000 930,000 A 698,000
OZF T2 cIRELE AN 232,000
s 232,000
NEHALXA 10,914,000 12,244,000 A 1,330,000
s 10,914,000
403 MtXISHHE A0l E 10,914,000 12,244,000 A 1,330,000
s 10,914,000
01 XM A=2E X 10,914,000 12,244,000 A 1,330,000
OYZl HHERQH MERZE 2AHE 300,000
s 300,000
O2d SddaNs3d =d 200,000
s 200,000
OOt&h HHE X =s2 A E 2,006,000
s 2,006,000
OtHet AL M=s2 A 800,000
as 800,000
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M MsSAEL
M SENEIE
SRl MSIIBAL 25 2L X (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
ey 700,000
01 X SHM 22X 700,000 1,400,000 700,000
Osxzd20ssl 2 350,000
= 350,000
Ouiat=sstn XHE AX 350,000
as 350,000
HMEAE AXAIEEHEX 22 (BTL) 1,116,532 1,116,532 0
as 1,116,532
308 AXISHXMSOoIHA 1,116,532 1,116,532 0
= 1,116,532
01 HXHNHNBIMNEXTZ 1,116,532 1,116,532 0
Odotxes MEXssd =4(BTL) 540,000
ax 540,000
OOfatA LRI s 2 =4 (BTL) 576,532
as 576,532
SYHALIXHAEHAE 2,000,000 1,700,000 300,000
rag 2,000,000
401 Al Bl 20 HI 2,000,000 1,700,000 300,000
= 2,000,000
01 A& HI 2,000,000 1,700,000 300,000
OSYAZIXMEH ZHALY 2,000,000
rag 2,000,000
MEXNE 23 65,000 205,500 A 140,500
dHE=E 245 65,000 205,500 A 140,500
308 AXISHXSOoIH 65,000 115,000 250,000
01 AXHNBMNEXTZ 65,000 115,000 250,000
OB HEL M3MELEH U3 15,000
Od=2 MEdsUs S L HEXS 50,000
HESAAL (MFIEY) 48,210 48,210 0
J2Z(MsXED) 48,210 48,210 0
J2HH(HNESXEW) 48,210 48,210 0
201 LEt2 Y| 22,680 22,680 0
01 AFR2t2l bl 22,680 22,680 0
OMSTNELLFE (0l AHE 2H10%) 22,680
202 (4] 22,680 22,680 0
01 2L Y| 22,680 22,680 0
OMSTNEL =X (0l AHE 2H10%) 22,680
203 YR =&Y 2,850 2,850 0
04 ENSIHRF=EY| 2,850 2,850 0
OMS T ZEDH(0fl A& 205%) 2,850




